125 EXC 2008 <2008><EU><7103H0>

ENGINE CASE
5200
@ $
—
. @ - @
DA
@ ® @ -+ @
.
B Dichtungssatz
Gasket-Set
1 {/ .\-. ,s:\‘ .
®® °0 -
_.;:'?Li-‘
Pos Part Number Description Additional Text Quantity
1* 51530000044 ENGINE CASE CPL W.TRAN.BEAR.07 1.00
3 5033000220098 IGNIT.COVER 125/200 MAG. 01 1.00
5 54630027000 DOWEL BUSHING 13,8X11X12 2.00
21 58030021000 OILDRAIN PLUG W.MAG. M 12X1,5 1.00
22 58038022000 CU-seal ring DIN7603-12X18X1.5 1.00
39 50330039000 ENGINE CASE GASKET 0,5MM '98 1.00
40 50330040100 IGNITION COVER GASKET 2001 1.00
42 0015060503 HH COLLAR SCREW M 6X50 WS=8 6.00
43 0015060553 HH COLLAR SCREW M 6X55 WS=8 5.00
44 0014050163 HH COLLAR SCREW M 5X16 WS=6 4.00
45 0015060603 HH COLLAR SCREW M 6X60 WS=8 1.00
92 50330092000 OIL GUARD GROMMET 25X31 '98 1.00
99 50330099200 GASKET KIT 125 07 1.00

* = New part



